Ak K6-Z

55 HaEs HE &% e HYA4X &%
1 P-70677 1 ik T R—2 4 paai=P

2 P-42082 2 NGO (K6-2) IS

2-1 P-31006 1 IF7INITUY (K6) L=——

3 D-00005 2 FAT 5L (K6)

3-1 P-30466 2 2 —)L)2% (K6,Q6: ¢ 140) NRLIL 140D

4 P-41580 2 ZL—hk(K6,Q6-Z: ¢ 70,SUS ¢ 70) Sus 70Dx5t

4 P-42130 2 7L —k(K6,Q6-ZT: ¢ 60,SUS) SUS 60Dx5t

5 P-31081 2 M7 L—b (K6, Q6-T: ¢ 60,PP) L=—— 60D

5 P-31082 2 AT L— (K6,Q6: ¢ 70PP) L=— 70D

7 P-40381 2 $15—(K6,Q6:41mm) $#%£123 41mm

7 P-41615 2 55— (K6,Q6-T:47mm) $%123 470

9 P-30505 2 — LTy (M6, SUSH=RJL) SUS+=Fk!JJL M6

9 P-30517 2 TI7AVARry (M6, T70Y) F7av M6

9-1 P-10372 2 2= IL7vi (M6,SUS) Sus M6

10 P-30911 8 #iH R 4w (M5) i M5

10-1 P-30989 8 TIAVHRYN (M5, T70Y) F70v M5x 1tx 10D

13 P-10840 2 SEES (M6,5ZE16mm) Sus M6,544%16mm

15 P-70446 2 7Y r—RH

16 P-42440 1 %7+ (K6,Q6:44x170) SUS303 44x170

16 P-42439 1 <7+ (K6,Q6-T:40x176) SUS303 40x176

17 P-41634 1 +—LTL—b

17-1 P-42201 1 F—LTL—MEERH/3—30924F) 1773y
17-2 P-42266 1 F— LT L— R H/\—31228) 177y
19 P-30132 1 I I75—/\wk IN—Ls

20 P-80087 1 Y15/ ILTH

23 P-10513 1 T7/8)L7(1/47) BIL (A F3avy) FCMB 1/4”°D 173y
24 P-30923 1 HRH/— +qav

24-1 P-30924 1 HEHhN—(RTAT) F40v 3/8” 177y
24-2 P-31228 1 HERAH/\— (H3E:3/87 100, TILARA) PR =b 3/8” WY
25 P-31499 1 H Ry bEER AN~ UGK1230N) UGK1230N

25-1 P-30941 1 ARy (HERH/3\—30923F) LR
32 P-42190 2 AR (KB) %

36 P-30933 2 Zbkwss—(25D) KL 25D

48 P-30944 1 ARy (HEEARR)

48-1 P-30943 1 HRAMF PFA

51 P-70450 1 A2 =7— LF#E (K6-2) SuUs

52 P-70451 1 7w =R"— )L (K6-2) Sus

56 D-00019 4 R—JLsNILTHE (K6)

59 P-31452 8 HRYMK6:1.6t/3)LT S — kB, UGK1240N) UGK1240N 16t

59 P-30725 8 HAR7 Y (K6e: N IV7 Y= 770Y) F7ayr

60 P-10132 8 7NARILE (M8x25,SUS) Sus M8x25

60-1 P-10867 8 SEEE 4 (M8,SUS) sus M8

61 P-10714 16 FryIRILM(M6x22,SUS) Sus M6x22

62-1 P-10644 2 A9 a—FT(M4x16) o M4x16

62-2 P-10645 2 AP) 1—3T(MAx12)7° 53 % M4x12 173y
62-3 P-10643 8 A1) 1 —F(M5x12) £ M5x12

62-4 P-10777 4 FARINAD (MEx12 /SR ESE A) £ M6x12

69 P-10333 2 K5y (M6,SUS,35278) Sus M6

73 P-10192 16 /\REZE(M6,SUS) sSus M6

73-1 P-10539 16 | TFEEKR(M6x13,SUS) Sus M6x13D

73-2 P-10259 8 INRPEE(M8,SUS) sus VE]

75 P-10280 16 NFAFY(M6:SUS) SUS M6x 1

80 P-30072 4 o5 (P5, =k L) —rJL 5D

83 P-10009 1 —yFIL(1/47) FCMB 1/4” 173y




TeCAVEAOCL

(8dA} 7) dind 9 :

S&HO

| 9PON

$2AEALEE (X




